

$$K13) \lim_{x \rightarrow 0} \frac{1 - \cos x}{x^2} = \lim_{x \rightarrow 0} \frac{1 + \cos x}{1 + \cos x} \cdot \frac{1 - \cos x}{x^2} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{1}{1 + \cos x} \cdot \lim_{x \rightarrow 0} \frac{1 - \cos^2 x}{x^2} =$$

$$\frac{1}{2} \lim_{x \rightarrow 0} \left(\frac{\sin x}{x} \right)^2 \stackrel{AL}{=} \frac{1}{2}$$

$$K14) \lim_{x \rightarrow 0} \frac{\sin x}{x} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{\sin x}{x} \cdot \lim_{x \rightarrow 0} \frac{1}{\cos x} = 1 \cdot 1 = 1$$

$$K15) \lim_{x \rightarrow \frac{\pi}{3}} \frac{\sin(x - \frac{\pi}{3})}{1 - 2\cos x} \stackrel{VLSF(I)}{=} \lim_{y \rightarrow 0} \frac{\sin y}{1 - 2\cos(y + \frac{\pi}{3})} = \lim_{y \rightarrow 0} \frac{\sin y}{1 - 2(\cos y \cos \frac{\pi}{3} - \sin y \sin \frac{\pi}{3})}$$

$$\left. \begin{array}{l} x - \frac{\pi}{3} = y \xrightarrow{x \rightarrow \frac{\pi}{3}} 0 \\ x \rightarrow 0 \text{ na } \mathbb{R} \setminus \{\frac{\pi}{3}\} \end{array} \right\} = \lim_{y \rightarrow 0} \frac{\sin y}{1 - \cos y + \sqrt{3} \sin y} = \lim_{y \rightarrow 0} \frac{\sin y}{\frac{y^2}{2} + \sqrt{3} \frac{\sin y}{y}}$$

$$\stackrel{AL}{=} \frac{1}{\frac{1}{2} \cdot 0 + \sqrt{3} \cdot 1} = \frac{1}{\sqrt{3}}$$

$$K16) \lim_{x \rightarrow 0} \frac{\sin 5x - \sin 3x}{\sin x} = \lim_{x \rightarrow 0} \frac{\frac{\sin 5x}{5x} \cdot 5x - \frac{\sin 3x}{3x} \cdot 3x}{\frac{\sin x}{x} \cdot x}$$

↑
vyskusi se x
a pak by limit
ne div.

$$\lim_{x \rightarrow 0} \frac{\frac{\sin 5x}{5x} \cdot 5 - \frac{\sin 3x}{3x} \cdot 3}{\frac{\sin x}{x}} \stackrel{AL}{=} \frac{5 - 3}{1} = 2$$

(*)

$$(*) \lim_{x \rightarrow 0} \frac{\sin ax}{ax} \stackrel{VLSF(I)}{=} 1 \quad a \neq 0$$

$$g(x) = ax = y \xrightarrow{x \rightarrow 0} 0 \quad x \in \mathbb{R} \setminus \{0\}$$

$$f(y) = \frac{\sin y}{y} \xrightarrow{y \rightarrow 0} 1$$

$$K18) \lim_{x \rightarrow 0} \frac{1 + \sin x - \cos x}{1 - \sin x - \cos x} = \lim_{x \rightarrow 0} \frac{\frac{1 - \cos x}{x^2} \cdot x^2 + \frac{\sin x}{x} \cdot x}{\frac{1 - \cos x}{x^2} \cdot x^2 - \frac{\sin x}{x} \cdot x}$$

↓
pokudlime x

$$\lim_{x \rightarrow 0} \frac{\frac{1 - \cos x}{x^2} \cdot x + \frac{\sin x}{x}}{\frac{1 - \cos x}{x^2} \cdot x - \frac{\sin x}{x}} \stackrel{AL}{=} \frac{\frac{1}{2} \cdot 0 + 1}{\frac{1}{2} \cdot 0 - 1} = -1$$

$$K19) \lim_{x \rightarrow 0} \frac{x^2}{\sqrt{1+x \sin x} - \sqrt{\cos x}} = \lim_{x \rightarrow 0} \frac{1 - \cos x + \frac{\sin x}{x}}{1 \cdot (\sqrt{1+x \sin x} + \sqrt{\cos x})} \stackrel{(+), AL}{=} \frac{1 + 1}{\frac{1}{2} + 1} = \frac{4}{3}$$

$$(+)\lim_{x \rightarrow 0} \sqrt{1+x \sin x} \stackrel{VLSF(S) \text{ poj. } \sqrt{1+0}}{=} \sqrt{1+0} = 1; \quad \lim_{x \rightarrow 0} \sqrt{\cos x} = \sqrt{1} = 1$$

$$K20) \lim_{x \rightarrow 0} \frac{\sqrt{\cos x} - \sqrt[3]{\cos x}}{\sin^2 x} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{\cos^3 x - \cos^2 x}{\sin^2 x} \cdot \lim_{x \rightarrow 0} \frac{1}{(\cos x)^{\frac{5}{2}} + \dots + (\cos x)^{\frac{5}{3}}} \stackrel{(+)}{=} AL$$

$$\frac{1}{6} \cdot \lim_{x \rightarrow 0} \cos^2 x \cdot \lim_{x \rightarrow 0} \frac{\cos x - 1}{x^2} \stackrel{AL}{=} \frac{1}{6} \cdot 1 \cdot \frac{-\frac{1}{2}}{1^2} = -\frac{1}{12}$$

$$(+)\lim_{x \rightarrow 0} \sqrt{\cos x} = \lim_{x \rightarrow 0} \sqrt[3]{\cos x} = 1 \leftarrow \text{pozn. } \sqrt{\cdot}, \sqrt[3]{\cdot} \text{ u } 1.$$

$$K22) \lim_{x \rightarrow 0} \frac{\log(\cos x)}{x^2} = \lim_{x \rightarrow 0} \frac{\log(\cos x)}{\cos x - 1} \cdot \frac{\cos x - 1}{x^2} \stackrel{AL}{=} 1 \cdot \left(-\frac{1}{2}\right) = -\frac{1}{2}$$

$$(*) \text{ VLSF(I) } f(y) = \frac{\log y}{y-1} \xrightarrow{y \rightarrow 1} \frac{0}{0}$$

$$y = g(x) = \cos x \xrightarrow{x \rightarrow 0} 1$$

*₁ na $(-\pi, \pi) \setminus \{0\}$.

$$Z, 2, 4) \lim_{x \rightarrow 0} \frac{\sqrt{1+\cos x} - \sqrt{1+\sin x}}{x^3} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{\cos x - \sin x}{x^3} \cdot \lim_{x \rightarrow 0} \frac{1}{\sqrt{1+\cos x} + \sqrt{1+\sin x}} \stackrel{AL}{=} \frac{1}{2}$$

$$\frac{1}{2} \lim_{x \rightarrow 0} \frac{\cos x - \sin x}{x^3} \stackrel{AL}{=} \lim_{x \rightarrow 0} \frac{1}{\cos x} \cdot \lim_{x \rightarrow 0} \left(\frac{\cos x}{x} \cdot \frac{1 - \cos x}{x^2} \right) \cdot \frac{1}{2}$$

$$= 1 \cdot 1 \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{4} \quad (*) \lim_{x \rightarrow 0} \sqrt{1+\cos x} = \lim_{x \rightarrow 0} \sqrt{1+\sin x} = 1 \leftarrow \text{VLSF(S) pozn. } \sqrt{\cdot} \text{ u } 1.$$

$$P_i: \lim_{x \rightarrow 0^+} \frac{\log(\log(\cos x^{\frac{2}{3}}))}{\sin^2(\log(\cos x) \cdot x^{\frac{1}{2}})} = \lim_{x \rightarrow 0^+} \frac{\log(\cdot)}{(\cdot)} \cdot \frac{(\cdot)}{\cos x^{\frac{2}{3}} - 1} \cdot \frac{\cos x^{\frac{2}{3}} - 1}{x^{\frac{4}{3}}} \cdot x^{\frac{4}{3}}$$

$$\frac{\sin^2(\cdot)}{\sin^2(\cdot)} \cdot \frac{(\cdot)^2}{(\cdot)^2} \cdot \frac{1}{x^{2\alpha}} \cdot \left(\frac{\cos x - 1}{\log(\cos x)} \right) \cdot \left(\frac{x}{\cos x - 1} \right) \cdot \frac{1}{x^4}$$

$$\stackrel{AL}{=} 1 \cdot 1 \cdot \left(-\frac{1}{2}\right) \cdot 1 \cdot 1 \cdot 1 \cdot 4 \cdot \lim_{x \rightarrow 0^+} x^{-\frac{8}{3} - 2\alpha} = -2: \alpha = -\frac{4}{3}$$

$$\text{I] VLSF(I) } f(y) = \frac{\log y}{y-1} \xrightarrow{y \rightarrow 1} \frac{0}{0}$$

$$g(x) = y = (\cdot) \xrightarrow{x \rightarrow 0} 1$$

$$(\cdot) = 0 \Leftrightarrow \cos x = 1 \Leftrightarrow x = 2k\pi$$

$$\Rightarrow (\cdot) \neq 0 \text{ na } (-\pi, \pi) \setminus \{0\}$$

$$\text{II] VLSF(I) } f(y) = \frac{\log(1+y)}{y} \xrightarrow{y \rightarrow 0} \frac{0}{0}$$

$$y = \cos x - 1 \xrightarrow{x \rightarrow 0} 0$$

*₀ na $(-\pi, \pi) \setminus \{0\}$

$$\text{III] VLSF(I) } f(y) = \frac{\log y - 1}{y^2} \xrightarrow{y \rightarrow 1} \frac{0}{0}$$

$$y = x^{\frac{2}{3}} \xrightarrow{x \rightarrow 0} 0$$

*₀ na $\mathbb{R} \setminus \{0\}$

$$\text{[4] VLSF(I) } f(y) = \frac{e^y - 1}{y} \xrightarrow{y \rightarrow 0} \frac{0}{0}$$

$$y = \sin^2(\cdot) \xrightarrow{\cdot \rightarrow 0} 0 \leftarrow \text{pozn. } \sin^2 \text{ u } 0$$

$$\text{* } (\cdot) \neq k\pi, k \in \mathbb{Z} \text{ na pozn. } \sin^2 \text{ u } 0$$

$$\text{* } \text{ kde } (\cdot) \neq k\pi, k \neq 0 \text{ a } (\cdot) \neq 0 \text{ na } x \in (-\pi, \pi) \setminus \{0\}$$

$$\text{[5] VLSF(I) } f(y) = \frac{2}{\sin y}$$

$$y = (\cdot) \xrightarrow{\cdot \rightarrow 0} 0 \leftarrow (*)$$

*₀ na $(-\pi, \pi) \setminus \{0\}$

$$\text{[6] VLSF(I) } f(y) = \frac{2-1}{\log y} \xrightarrow{y \rightarrow 1} \frac{1}{0}$$

*₁ na $(-\pi, \pi) \setminus \{0\}$

$$(*) \lim_{x \rightarrow 0} \frac{(\cdot)}{x^{2\alpha}} = -2 \Rightarrow$$

$$(\cdot) \rightarrow 0.$$